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n=2 n=3 n=4 n=>5 n=6
ethylene propylene butadien pentadien hexatriene
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0000000On=200 E;, = «a+2Bcos(kn/3)00 k=1,2 (1)
O0000000n=300 Ey, = «a+28cos(kn/4)00 k=1,2,3 (2)
O0000000n=400 Ey, = «a+2Bcos(kn/5)00 k=1,2,3,4 (3)
O00000O0n=500 Ey, = a+2Bcos(kn/6)00 k=1,2,3,4,5 (4)
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ethylene propylene butadien pentadien
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cyclopropene cyclobutadiene  cyclopentadiene benzene cycloheptatriene
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a+ 20

—Ac1 toe +cp, = 0

1 —Acy +c3 0
Cm—1 _)‘Cm +Cm+1 =0 (5)

Cn_o —MNCn_1 +cn 0

c1 Cn—1 —ACp 0
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By = a+2ﬂcos<W>DDDDDD (n =1/ (7)
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Oo000doooobodn=300 E, = a+2BCOS(2k7T/3)D k=0,£1 (8)
O00000ooobodn=400 E, = a+2ﬁcos(2k7r/4)|:| k=0,%x1,2 (9)
Jo000oooobDOn=500 FE a+2pcos (2kw/5)0 k=0,+1,+2 (10)
O000000000On=600 E, = Oz—i—QBCOS(Qk?T/G)D k=0,+1,4£2,3 (11)
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cyclopropene cyclobutadiene cyclopentadiene benzene
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